
Combination Code 
Andrew did not go to school. He was very sick. He asked his friend Jesse to get his books from his school locker. 
The next day, Jesse went to Andrew’s locker and tried to open the locker.  
 
Jesse has to solve the combination code in order to open the locker.  

The combination code clue is:  24 24 22 9 9 – 22 9 9 - 24 22 9 9.  

What is the combination number? 

 ? ? - ? - ? ? 

Clues: 

Alphabet: 
A B C D E F G H I J K L M    
  
N O P Q R S T U V W X Y Z 
Roman Numerals: 
I = 1   V = 5 
IV = 4   X = 10 

E.g., 3 = III   15 = XV 
 7 = VII     21 = XXII 

    9 = IX  

First student to solve it, 

WINS a PRIZE!  
 
 
 
 

Clue - 手がかり 
Locker - ロッカー 

Combination code - 組み合わせコード 


